(2) PC-000340 (2) PC-000172 - 3”S.S. Flat Hinge

’ Y (6) PC-000105 - Rivet (Hinge to Lid)
3/8"Tube x 3/8" Mpt SK3-0020 (6) PC-000102 - Rivet (Hinge to Tank)
Male Connector Main Tank (6) PC-000106 - Washer

(2) TDO4-1000

Paper Towel Dispenser
(8) PC-000105 - Rivet

(8) PC-000106 - Washer

LS04-0001

Soap Dispenser
(3) PC-000105 - Rivet

SK3-0023
Dispenser Column
(10) PC-000117 - Rivet

(2) PC-000581G

Sink Tap
(4) PC-000104 - Rivet

(4) PC-000106 - Washer SK3-0021 - Sink Bowl

(2) PC-100147 - 19" Cable Tether
(2) PC-000105 - Rivet

(2) PC-000102 - Rivet

(2) PC-000106 - Washer

(2) PC-000308
Sink Strainer

(2) PC-000373
3/4" Plastic Flange Nut

<
**NOT SHOWN (2) PC-000226 Latch w/Catch
SK2-0001 - Bag Liner w/Drain (For SK3-1000) (8) PC-000110-1/8" Rivet
(14) PC-000356 - Male Snap Fastener (8) PC-000111 - 1/8” Washer
(14) PC-000110 - 1/8" Rivet (2) PC-000205M - Lock

(14) PC-000111 - 1/8" Washer

(2) SK1-0003 - Trash Chute

(4) PC-000102 - Rivet

(2) PC-000104 - Rivet

(6) PC-000106 - Washer

PC-000791 - Serial I.D. Plate

(2) PC-000102 - Rivet

(2) PC-000106 - Washer

PC-000782 - Decal Not for Drinking or Cooking
SK3-0001 - Hard Liner (For Sk3-2000)
PC-100309 - Elbow 1”x 1" Mpt Barb



CH100-032 - 1"x 32"Hose
(Used with Hard Liner)
CH100-025 - 1"x 25" Hose

(2) CT38-065
3/8"x 65" Tube

PC-000327 - Fitting
1" Mpt x 1”Barb Plastic (2) PC-000352

#12 Hose Clamp

(2) PC-000554 - 1" Plug
(2) PC-000345 - 1"0-Ring

o PC-000305
(2) PC-000600 - Baby Foot Pump ) Plastic Filter
(8) PC-000102 - Rivet

(8) PC-000106 - Washer (4) PC-000415

1/4" Uniseal

(2) CT38-005 - 3/8"X 5" Tube

SK1-0002L - Left Base Plate .
SK1-0002R - Right Base Plate I8 3
(8) PC-000168 - Washer 5/16" X 7/8"
(8) PC-000142 - Bolt 1/4"-20 X 3/4"



